Tuesday November 5 Let A* = 3fEA: FG) = Then At is on obeloin group under it: Definition. The Dirichlet convolution of two antimetic functions f and g, writtens fixg, is the artifrantic function deflued by Inverses exited In Ax (HW #8 problem). In particular, pr is the invess of $(f \neq xg \vee n) = \prod f(d)g(n/d)$ $= \prod f(d)g(n/d)$ $= \prod f(d)g(d) = \prod f(n/d)g(d)$ $= \prod f(d)g(d)g(d)$ $= \prod f(d)g(d)g(d)$ $= \prod f(d)g(d)g(d)$ 1 (port=c), What justifies Möbins inversion $F = f \neq 1 \iff f = F \neq \mu$. Technicol note: * is associable we can show $(f*g)*h(n) = \dots = \sum_{b \in d = n} f(bg(c)h(d))$ = -- = (f*bg(c)h(d)), (Abstract algebra comments: Let A = foll f: IN >123. Then Dirichlot Bonus fast: 5>11 multiplistive functionss convolution & is a commutative binary operation on A; and clini=51, if n=1, is the identity element for 20, of n22 is a subgrap of Ax. k. A is > monoid".

let's prostice som Dirichtet convolutions. Formally, we'd need to show Revoll o(n) = 21 d is the sum-of-divisors function. $\sum_{j=0}^{j} p^{j} = o(p^{r}) = \sum_{j=0}^{j} \phi(p^{j}) \tau(p^{r-j})$ Example - Prove that $S(n) = \sum \frac{1}{2} \frac{1}{2$ $= 1(c_{+}i) + \frac{2}{2}p^{i-1}(p-i)(c_{-}j+i),$ $\frac{Prof 2'}{Prof 2'} \neq or T = prof (1 + 1)$ Prof. 1: Both sides are multiplicative. So to suffices to chock of pr) = I dept/d). d1pr $= (\phi + 1) + 1$ = id + 1 = 5.1 r O 1 2 3 s(p) P+1 p2+p+1 p3+p2+p+1 f(pr)) p-1 p(p-1) $p^2(p-1)$ τίρ^γ) 1 2 3 4 (ψπτ) γ²) (φ-1) ρ(φ-1) φ²(ρ-1) + 2ρ(ρ-1) 1-2 24-17 +3(p-1)+4 3 (Computes (Ft.g.Cp)) without knows the onone shood of the.)

Observation: Dirichtet convolutions on prime powers lostes like convolutions Example: Read Suit of sequences - the way we color the schill SI, of nois 2 square, coefficients of products - of polynomials as of power series. In other words, Let's reprove that Sot(u2) = 1 it ho fing than we have the (formal) Solution - Coll functions se multiplissite) power serves identify $\frac{\tilde{Z}}{\tilde{J}} = \left(\frac{\tilde{Z}}{\tilde{J}} + \tilde{J} + \tilde{J} \right) \left(\frac{\tilde{Z}}{\tilde{J}} + \tilde{J} + \tilde{J} \right) \left(\frac{\tilde{Z}}{\tilde{J}} + \tilde{J} + \tilde{J} \right) \left(\frac{\tilde{Z}}{\tilde{J}} + \tilde{J} \right) \left(\frac{\tilde{Z$ $\frac{2}{\sqrt{3}} \frac{3}{\sqrt{2}} = \frac{1}{\sqrt{2}} \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{2}} \frac{3}{\sqrt{2}} + \frac{1}{\sqrt{2}} \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{2}} \frac$ $\frac{1}{2^{2}} p^{2}(p^{3}) x^{3} = 1 + 1x + 0x^{2} + 0x^{3} + - \frac{1}{3^{2}} = 3 + x^{2} + 1x + 0x^{2} + 0x^{3} + - \frac{1}{3^{2}} = 3 + x^{2} +$